
Pa rts List 
ITEM DESCRIPTION QTY 

Support Angle, 24" Ice Bridge 
1 Bolt, 3/8"X 2" Hex HDG gr 5, FULL THREAD 4 
2 Nut, hex 3/8" HOG 4 
3 Lock washer, 3/8", HDG 4 
4 Flat washer, 3/8", HDG 8 
5 Nut, hex 1/2" HDG 4 
6 Lock washer, 1 /2" HOG 4 
7 Flat washer, 1/2", HOG 8 

8 1 /2" X 3.625" x 6"U-Bolt, w / 3" threads 2 
9 J-bolt, 3/8" x 4"L x 3" threads. HDG 4 

------------32.0'------------

c-c POST

0 0 

NOTES: 

1. WEIGHT 14.6 LBS 

REV. ECO 
A MTW 
B MTW 

8 

NOTE: J-BOL TS OR 2" 
CAN BE USED 

TlfS OOCUMENT CONTANS PROPRETARY 0,\TA Of _. 11'1 

INITIAL RELEASE 
UPDATED IMAGE 

REVISIONS 
DESCRIPTION BY DATE 

ACG 12 16 09 
KAR 3 28 11 

FM-WBCS243 =.=_���W°.:'.':F'"� .. , ACG 12 18 09 
:i_ W:E::s er AR7:" ,,::�\.s. fc-

=

C=C=�-'--
-

-+-=1=-"-o-f _1,..___-+_==, .. �
W

-av
_

e
_
g
_u _id _

e
_B_ r_ id_

g
_
e
_
S
_ u_ p_p _o

_rt
-B r_a

_
c
_
ke

-t
------1 

TOLERANCES UNLESS OTHERWISE SPECIFIED: t--,
....,,...
..,....--t;_;;;.----17,a....-,.._.�---�-�---------, 

.x • ±.06 

---------1 .xx • ±.03 
ANGLES ±2" 
FRACTIONS ± 1 /32 

.xxx- ±.010 

� CJ REMOVE BURRS AND BREAK EDGES .005 

THIRD ANGLE PROJECTION DO NOT SCALE THIS PRINT 

NTS 

B A36 

Galv A123 
® FIMO)» 


